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Do not omit scratch work. I need to see all steps. Skipping details will result in a loss of credit.
Thanks and enjoy. Remember, no graphing calculators permitted.

Problem 2 [200pts] Simplify the rational function f(z) = G—;ém and construct the sign-chart.

Use the sign-chart to help graph y = f(z). Make sure to label all the vertical asymptotes
and zeros. :
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Problem 3 [100pts] Find all real z that solve the inequality below: (using a sign-chart to aid
your logic is encouraged!)
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Problem 4 [100pts] Find numbers for A, B and C that make the equality below true
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Problem 6 [150pts] Solve 2%~1% = 8,
':f "":1’? A
-

- 0 (Wf

s



Problem 7 [150pts] Solve 3%73*" = L
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Problem 8 [100pts] Graph y = 2° and y = log,(z). Include at least 3 specific points on both
graphs.
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Problem 9 [100pts] Solve log,(z) =




Problem 10 [100pts| Solve log(z + 9) + log(z) = 1.
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Problem 13 [100pts] Given the graph y = f(z) below, construct the graph of y = f~*(z).
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Problem 14 [100pts] Let f(z) = z* + v/z and g(z) = —=. Find the formulas for

L (f-9@) = ftoy— a0 = Lw:% Ix -

oy T
e /
S T ST it T

A

T

2 ()@ = £e5 40) = (<4 %) o =

3. (feo)z) = £ {Gix)) =




Problem 15 [100pts| Take the graph y = /z and reflect it across the ¥ axis. Secondly, shift the
graph up by 3 units. Third, shift the graph 2 units left. Graph the result of this three-step

transformation and give the formula for this function.
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Bonus [50pts] Solve vz + 6 = v/6 — .
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Bonus [50pts] Find all real solutions of log(z? — 1) — log(z + 1) = In(z — 1).
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